

Parker Hotel Brussels Airport is located on the outskirts of Brussels, near the airport, NATO headquarters and Brussels Exhibition Centre, is the ideal venue for all your corporate and private events. The hotel offers extensive and well-equipped meetings facilities for conferences, banquets, congresses, parties, seminars and weddings.

The unique modular event floor with natural daylight can accommodate up to 700 people. It's the ideal venue for cocktails, exhibitions or presentations. Furthermore, Parker Hotel provides a business centre and a lounge with free WIFI access.

A business meeting, a wedding, dinner at the "chez Daniel" or just a drink at the "H's Brasserie". Parker Hotel Brussels Airport is the perfect location for your event.

A small impression















Wouter Ruts Meeting & Events Manager

T: +32 2 713 66 17

F: +32 2 721 43 45

E: meeting@phbahotel.be

Table of content

- 1 Introduction
- 2 Table of content
- 3 Meeting packages
- 4 Personalize your meeting
- 5 Catering
- 6 Meeting rooms
- 7 Facilities
- 8 Floor plan

Meeting packages

Classic full-day package



€69

- -Mineral water
- -Welcome Coffee
- -Morning coffee break

Lunch: soup of the day, 4 luxury sandwiches, mixed salads, variety of desserts, soft drinks, wines, orange juice, mineral water and coffee/tea

- -Afternoon coffee break
- -Meeting room rental (suitable room, depending on the number of participants)
- -The meeting room is provided with pens, writing pad and mints
- -Technical equipment: beamer, flipchart, microphone
- -Parking
- -WIFI

Classic half-day package



-Mineral water

-Morning or afternoon coffee break

-Lunch: soup of the day, 4 luxury sandwiches, mixed salads, variety of desserts, soft drinks, wines, orange juice, mineral water and coffee/tea

€59

- -Meeting room rental (suitable room, depending on the number of participants)
- -The meeting room is provided with pens, writing pads and mints
- -Technical equipment: beamer, flipchart, microphone
- -Parking
- -WIFI

Group rates are available for meetings starting as from 25 persons.

The packages can also be adapted with a 2 or 3 course lunch instead of a buffet.

This is upon request and our chef will be happy to create a customized menu for you.

Deluxe full-day package



-Mineral water

€75

- -Welcome Coffee
- -Morning coffee break
- -Lunch: soup of the day, mixed salads, 2 hot dishes, variety of desserts, soft drinks, wines, orange juice, mineral water and coffee/tea
- -Afternoon coffee break
- -Meeting room rental (suitable room, depending on the number of participants)
- -The meeting room is provided with pens, writing pad and mints
- -Technical equipment: beamer, flipchart, microphone
- -Parking
- -WIFI

Deluxe half-day package



-Mineral water

- -Morning or afternoon coffee break
- -Lunch: soup of the day, mixed salads, 2 hot dishes, variety of desserts, soft drinks, wines, orange juice, mineral water and coffee/tea

€65

- -Meeting room rental (suitable room, depending on the number of participants)
- -The meeting room is provided with pens, writing pad and mints
- -Technical equipment: beamer, flipchart, microphone
- -Parking
- -WIFI

Group rates are available for meetings starting as from 25 persons.

These packages can also be adapted with a 2 or 3 course lunch instead of a buffet.

This is upon request and our chef will be happy to create a customized menu for you.

Personalize your meeting

Food & Beverage



Breakfast with bacon and Eggs € 10,00 p.p

Pancakes and Belgian waffles € 10,00 p.p

Fresh Fruit Salad € 2,50 p.p

Coffee Break with quiche(tart) and mini-croque € 7,00 p.p

Dessert buffet with assortment of cheese and bread € 8,00 p.p

Theme Buffets:

Spanish, Italian, Oriental, Sea Food; € 12,50 p.p

Smoothie bar € 7,50 p.p

Upgrade wines € 5, 00 p.p

After drink



1 hour includes: Cava, wines, beer, soft drinks, water, € 15,00 p.p hot and cold finger food

Meeting room fitting



Table skirting and leather placements

€ 5,00 p.p

Technical equipment



Sound system + 2 microphones € 250, 00 p.d

Extra microphone € 25,00 p.d

Conference phone € 120, 00 p.d

Presentation desk € 25, 00 p.d

Extra flipcharts € 15, 00 p.d

Podium € 50, 00 p.d

Simultaneous translation Upon request

Catering

Summer edition



The hotel also organize private parties and events with special themes; we make everything fit to your budget and imagination. The Parker team is known for "thinking outside the box". They design personalized pool parties, BBQ's and unforgettable cocktails in the hotels' garden.

Lunch/dinner



Lunch or dinner without meeting? Try the Live-cooking!

Lunch or dinner can be seated or in cocktail set-up, adapted to your wishes:

- -Cold buffet: variety of salads, soup, deluxe sandwiches and dessert buffet
- -Hot/cold buffet: variety of salads, hot and cold dishes and dessert buffet
- -2 or 3 course menu with the best seasonal products

Cocktail



Cava, beer, red and white wines and juices. A variety of hot and cold snacks served to your guests.

Ask for the different formulas and possibilities.







Meeting rooms

Please find below the overview of our meetingrooms and their capacities. All the meeting rooms are modular and combinable.

Meeting Room Capacities									
Meeting Rooms	Size	Орр		Boardroom			Banquet	Cabaret	Cocktail
	Ground Floor								
One	6.75*6	41	30	20	20	18	18	12	1
Two	7.5*43.2	24	1	6	1	/	1	1	1
Three	7.2*4.2	41	30	20	20	18	18	12	1
	1st Floor								
Four	6.75*6	41	30	20	20	18	18	12	1
Five	10*13.5	135	120	42	68	35	80	60	130
Six	10*13.5	135	120	42	68	35	80	60	130
Seven	10*13.5	135	120	42	68	35	80	60	130
Eight	7.4*8	57	50	24	30	20	32	30	50
Nine	9.5*8	76	65	34	40	30	50	40	70
Five + Six	20*13.5	270	240	80	140	65	160	12	260
Six + Seven	20*13.5	270	240	80	140	65	160	12	260
Harmony 1	30*13.5	405	350	/	200	/	240	/	400
Harmony 2	16.9*8	130	115	/	65	35	80	/	130
Foyer	27.4*8	220	1	/	/	/	/	/	230
Forum	27.4*27.4	750	/	/	/	/	/	450	750
Harmony 1: Five +									
Harmony 2: Eight +									
Forum: Five + Six -			line + Foye	er					

Facilities

Hotel Rooms



The hotel offers 125 classic and deluxe rooms, as well as junior suites. All of the rooms are non–smoking, spacious and air-conditioned. Classy rooms with warm colours, soft lightining and comfortable beds.

Each room has a desk, flatscreen-TV, telephone, free WIFI, coffee and tea, fridge, water and safe. The bathrooms have a shower and bath, hair dryer and toiletries. The team will make sure you feel home away from home.

Parking



The hotel offers 200 parking space free of charge for meeting guests. As an individual guest the parking expenses are €15 per day.

WIFI



The hotel gladly offers free WIFI troughout the entire hotel.

Wellness



After a busy day relax at the health and leisure club on the ground floor. Lose yourself in our fitness centre, jacuzzi and Hammam. From Spring to Autumn you can also enjoy the outside heated swimming pool. All that is included in the price of your hotel room.

24/7 Shuttle service



The hotels' private drivers are 24/7 available for the shuttle service from and to the airport







Floor plan



Golden Tulip Brussels - Main function floor